1. Deuda Plblica (1=A+B} 0.00 0.00 0.00 0.00 0.00: 0.00 0.00|
A. Corto Plazo {A=a1+a2+a3} 0.00 0.00 0.00 0.00 0.00 0.00 0.00|
a1) Instituciones de Crédito 0.00 0.00 0.00] 0.00 0.00] 0.00 0.00!
a2) Titulos y Valores 0.00 0.00 0.00 0.00] 0.00 0.00 0.00]
a3) Arrendamientos Financieros 0.00 0.00 0.00 0.00 0.00 0.00 0.00]
B. Largo Plazo (B=b1+b2+b3) 0,00 0.00 0.00 0.00 0.00 0.00 0.00]
b1) Instituciones de Crédito 0.00 0.00 0.00 0.00 0.00 0.00] 0 00]
b2) Titulos y Valores 0.00 0.00 0.00 0.00] 0.00 0.00 0.00]
b3) Arrendamientos Financieros 0.00 0.00 0.00] 0.00 0.00 0.00 0.00
2, Otros Pasivos 7,622,567.57 0.00 0.00 0.00 7,834,855.36 0.00 0.00|
(3:;;1{2;;' de la Deuda Piblloa y Otros Pasivos 7,622,567.57 0.00 0.00 0.00 7,834,855.36 0.00 0.00
4. Deuda Contingente 1 (informativo) 4,074,724.07 0.00 0.00 0.00 4,074,724.07 0.00] 0.00|
A. Deuda Contingente 1 0.00 0.00 0.00 0.00] 0.00] 0.00 0.00
B. Deuda Contingente 2 0.00 0.00] 0.00 0.00 0.00 0.00 0.00
C. Deuda Contingente XX 0.00] 0.00 0.00] 0.00] 0.00] . 0.00] 0.00
5. Valor de Instrumentos Bono Cupén Cero 2| 0.00 0.00 0.00 0.00 0.00 0.00 0.00
{Informativo)

A. Instrumento Bono Cupén Cero 1 0.00 0.00 0.00 0.00] 0.00 0.00 0.00]
B. Instrumento Bono Cupén Cero 2 0.00 0.00] 0.00 0.00 0.00 0.00 0.00]
C. Instrumento Bono Cupén Cero XX 0.00 0.00] 0.00] 0.00 0.00] 0.00] 0.00




